MIAM -DADE MIAMI-DADE COUNTY, FLORIDA
[ METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

MetalTech, Inc.
7635 West 2™ Court
Hialeah, Florida 33014

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.031” (min.) Steel Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 98001, titled “ Maximum Impact Storm Panel ”, sheets 1 through 7 of
7, prepared by Ramms Engineering, Inc., dated January 10, 1998, last revision dated September 09, 2002, bearing
the Miami-Dade County Product Control Revision stamp with the Notice of Acceptance number and expiration
date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 01-0205.01 and consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.

NOA No 01-1224.07
Expiration Date: 03/22/2006
Approval Date: 10/17/2002
Page 1




2 3/8°

.080

©
2 1/8*

3 3/16°
3 3/8°

P2

;t' ;t' 1/8°
1/8" - .
Thgl 1%
FLAT BAR FLAT 8AR
.F_

VARIOUS DEGREE
CORNER PAN

.050 MIN,

3

3 3/16°

N
[3
1 174"

COMPLIES WITH:

094 |
®
2 1/8"

y
7/16 *r—-r:?
Y]
8 @
&l .093
1 29/32° }

VARIOUS TYPES OF F—TRACK NOT SHOWN

1 13/716" |1 3/8°

\‘—. \
- CORNER PAN
7 ®
1 .050 mi.
N
3 l

7/8% 1 3/32" 3 7/32*

3 1/32"

7/8° 1 3/32°

> 3/8° 5 13/16°
& 12
. o™ (e
=L o ]d 1= .
H1 " | VARIES 3 Max. ][ .
. 1 ~@ R
2 .090 -
4]
| _ | = |
oY Q
5/8 2 3/ O ® WITH .031"
T T 3 _ @
3 % Y L2H ol || e
] 093 > 1/8" MIN. T, 1/8" MIN.
2 I 1 12! I

1172/

1

0'-3/4°

8" MAX.

l 11/2f

3 7/32*

RETURN

@

.060 MiN.,
o

1 3/32"

VARIES
3¢— ——

L3H

@®

1/8” MIN.

—

5 1/4"

3 5/8” MAX.

.060 MIN.
2

74

o —

BLOCKING

2 1/4"

REFER TO SHEETS 5.6 & 7 OF 7 FOR ANCHOR SPACING AND MINIMUM EMBEDMENTS

WitH 1*

FLORIDA BUILDING CODE 2001
TESTED TO TAS201,
DESIGN CRITERIA:

PRESSURE REQUIREMENT CALCULATIONS
MUST BE PERFORMED PER ASCE 7 "MINIMUM DESIGN LOADS FOR BUILDING AND
OTHER STRUCTURES™

GENERAL NOTES:

TAS202 AND TAS203

STORM PANELS SHALL BE:
24 GAUGE' STEEL, ASTM A653 5Q GRADE E MIN. Fy =

MINIMUM THICKNESS

HOT DIP COATED. WITH A NOMINAL WIDTH OF 12 1/2”

ALL ALUMINUM EXTRUSIONS TO BE ALLOY 6063—T6 OR EQUAL

THE STORM PANEL SHUTTER MAY BE INSTALLED VERTICALLY OR HORIZONTALLY,
IN ACCORDANCE TO THE DETAILED SPECIFICATIONS HEREIN.

PANELS MAY BE NOTCHED OR MITERED TO ACCOMMODATE AN OBSTRUCTION

ANCHORAGE OF THE SHUTTER SYSTEM TO CONCRETE OR MASONRY SHALL CONSIST OF
THE FOLLOWING OR EQUAL WITH MINIMUM ULTIMATE LOAD VALUES SHOWN

1/4" DIA. RAWL LOK/BOLT ANCHOR ( SLEEVED DRIVE ANCHOR )

N
-3
Q
o

80 K.S.l. MINIMUM VALUE

MIN. TENSILE 1190 — MIN. SHEAR 1520 —~ 1 1/8" MIN. EMBED. IN CONCRETE
MIN, TENSILE 1200 — MIN. SHEAR 1270 — 1 1/8" MIN. EMBED. IN MASONRY

1/4—-20 RAWL CALK—IN ANCHOR ( MACHINE SCREW ANCHOR ) WITH 1/4—-20 BOLTS

MIN. TENSILE 1870 —~ MIN. SHEAR 1730 — 7/8" MIN. EMBED. IN CONCRETE

MIN. TENSILE 880 —

MIN. SHEAR 1340 — 7/8" MIN. EMBED. IN MASONRY
1/4" PERMA—SEAL TAPPER BY RAWL ( MASONRY SCREWS VARIOUS HEAD TYPES )
MIN. TENSILE 1520 — MIN. SHEAR 1980 ~ 1 1/2" MEN. EMBED. IN CONCRETE

MIN. TENSILE 880 — MIN. SHEAR 1270 — 1 1/4” MIN. EMBED. IN MASONRY

1/4" ZAMAC NAILIN BY RAWL ( ZAMAC HAMMER DRIVES )

MIN. TENSILE 980 — MIN. SHEAR 1400 — 1 3/8” MIN. EMBED. IN CONCRETE
MIN. TENSILE 730 — MIN. SHEAR 1320 — 1 1/4” MIN. EMBED. IN MASONRY

ANCHORAGE TO WOOD CONSTRUCTION SHALL BE 1,/4"
MIN. THREAD PENETRATION,

STEEL LAGS OR LARGER
1/4~20 BRASS WOOD BUSHINGS OR
1/4" ELCO PANEL MATES OR MASONRY SCREW WITH 1 7/8" MIN. THREAD PENETRATION.

IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE
STRUCTURE TO WITHSTAND THE ADDITIONAL LOADS AND INSURE PROPER ANCHORAGE.

VARIES

|

SPECIAL NET PANEL

3 7/32"

1.3/32" 7

sl

| I
®

5% MAXIMUM

L3H STATING

3

1/8" MIN,

——

.

SECTION

__ ALL STUDS 3/8" ( TYP. )
ALL APPLICATIONS

STUD MY BE INTALLED ~————3% INCLUDES STUDDED T1

IN REVERSE DIRECTION "

ANGLES STUDDED IN
SHORTER LEG ONLY

gr— [ —
W TYPICAL LIH SN 1/4=20 X 3/4
N 1/8% 18—8 STAINLESS STEEL
™~ = KNURLED STUDS
- 12 1/2" 0.C.
) REFER TO APPLICATIONS ON SHEETS 2 & X

MOUNTING HOLES 12 1/2" O.C.

CROSS

SECTIONS

ANCHOR MOUNTING HOLES LOCATED ON
EITHER HORIZONTAL OR VERTICAL LEG,

® ®o®
STUDDED ANGLE DETAIL

1/8" x 1 1/2" FLAT STUDDED STRAP MAY BE USED IN PLACE OF ANGLE

3/4"

L]
@

s
. 9

v

M AR5 THICK
KEY HOLE WA.S‘H,EE\/

/z?}/L

MON3OUR, PE
EB—-0006024

RAMMS ENGINEERING, INC.

EACH PANEL SHALL BEAR A PERMANENT LABEL OR STAMP SHOWING

* METALTECH, INC. HIALEAH, FL " * DADE COUNTY FRODUCT CONTROL APPROVED

PERMANENT FASTENER COMPONENTS, EMBEDDED ANCHOR BOLTS, THREADED CONES
OR METAL SHIELDS, NOT IN USE, MUST BE PROTECTED AGAINST CORROSION,
CONTAMINATION AND DAMAGE AT ALL TIME.

PRODUCT REVISED
AS com|
Buiding Code
Acceptauce NoO/— |22
Expiration Date

with the Florida

WARNING TO OWNER OR TENANT LOGATED IN EACH HEADER OR ONE PANEL OF EACH OPENING,
* STORM PANELS WILL NOT OFFER HURRICANE PROTECTION UNLESS ALL REINFORCING
/ STRAPS OR BOLTS ARE PROPERLY INSTALLED, WHEN REQURED "

o7
606

MAXIMUM IMPACT- STORM PANEL

BUILDING CODE COMPLIANCE l

' REVISIONS BY

§03/20/98|sP

fo6/12/98|sp

j08/14/98|sp

12/15/00 |sp

01/17/01 |spP

lo7/15/02]sp

fos/05/02]se

U
z
U'\
ég
oV w2
TR
Z y ke
SR M
yan 8
ORNE
o~
S g
o B
oy
=~
o §
(S
Hi.
gé
F4
0
.
m;’
o
©
A
o
K
o




!

J
D

NOTE* CONNECTION TYPE "B”

SEE ANCHOR SCHEDULE
CONNECTION TYPE "D"

OBSTRUCTION 3

N]r SCREW ANCHOR 12" O.C.

.'q | SEE ANCHOR SCHEDULE

SEE ANCHOR SCHEDULE L
CONNECTION TYPE "C”" N

CH.‘-_‘ADEI‘? or SILL

DETAIL 2

HEADER or SILL

DETAIL 1

@ OR FLANGE MAY BE REVERSED

1/4—20 THRU BOLT

W/ LOCK NUT 12° o.C.

OJOlOJOPIC)

HEADER or SILL o

'

1" MIN.

CONNECTION TYPE

DETAIL 5 DETAIL 6

SEE ANCHOR SCHEDULE
CONNECTION TYPE "B"

(2) OR_OTHER HEADER or SILL 7
) REFER TO THAT APPLICATION FOR
| PROPER CONNECTION TYPE

. .
" \\ CONTINUOUS BLOCKING

2 PIECES FASTEN TOGETHER WITH
#64 RIVETS OR #8 TECK SCREWS 12" 0.C.

OLTED TOGETHER WITH
1/4~20 THRU BOLT W/ LOCK NUT 6" O.C.
USED AS HEADER OR SILL

SEE ANCHOR SCHEDULE

@ or @ HEADER or SILL

eq
ko

SEE ANCHOR SCHEDULE
CONNECTION TYPE "A”

DETAIL 3

@ @ HEADER or SILL
OR MAY BE INSTALLED IN REVERSE DIRECTION

= CONTINUOUS BLOCKING
/—@ or W) 3/16 ANGLE
B

"E"

SILL

@ @ HEADER or
OR MAY BE INSTALLED IN REVERSE DIRECTION
AS IN DETAIL &

© 'comwuous BLOCKING
or\®) 3/16 ANGLE

BOLTED TOGETHER WITH

1/4~20 THRU BOLT W/ LOCK NUT 6" O.C.

USED AS HEADER OR SiLL

CONTINUOUS BLOCKING
ORJ/IE ANGLE
1/4—20 MASHINE SCREW ANCHOR

/ WITH SIDEWALK BOLT
. OR 1/4" MASONRY SCREW 3" O.C.

DETAIL 9

MAXMPME.I'B@'ITOC"

DETAIL

ETURN PAN, ANGLE, TUBE OR WOOD
MUST BE USED ON ALL BUILD OUT CONDITIONS
TO CLOSE OFF ENDS

RETURN PAN

VARIOU! ES
FLOOR PLUG AND MACHINE ARIOUS Siz

: EQ " 3% MIN. EDGE DISTANCE
o PQURED CONCRETE ONLY

',.r o ,", .r“

10

OPTIONAL USE OF 1/8" ANGLE

/ FOR PURPOSE OF EXTENDING WALL
’ FLOOR PLUG AND MACHINE L

SCREW ANCHOR 12" 0O.C.

1/8 X 1 1/2 FLAT BAR CreqT
0 S%DDED WﬁH WINGNUTS g St o ‘;. aE=
B [ 4 ¢ VU
N——

ﬁ@\"

[
LS‘LDTTED MOUNTING HOLE MAY BE USED

IN CENTER WEB OF PANEL, TYP. FOR ALL
SPECIAL PAN APPLICATIONS.

HEADER ON TOP
SILL ON BOTTOM

3 Jo WITH A
MAXIMUM ADD—ON OF 3" FASTENED TO

PANEL BY. THE USE oF g54 POP RIVETS O 1/4-20 RIVETNUT

T4

1/4—20 x 3/4 KNURLED STUDS
WITH WASHERED WINGNUTS (TYP.)

WITH 1/4-20 FLOOR PLUG (TYR.)

L,—q

\\

MAXIMUM GAFP BETWEEN STROM PANEL
AND D.L.O. SHALL NOT EXCEED 1/4"
AS VIEWED FROM FRONT VIEW

%RU BoLs 15706
A Pjﬂﬁ\ c

/ \ /__\/NS/DE CLOSER PAN ASSEMBLY/T\

MAXIMUM MPACT STORM PANEL

/_@ @or ‘ f I
EADER or SILL I

HEADER or SILL

CONNECTION TYPE "C”

SEE "ANGHOR SCHEDULE

3

DETAIL 4 B v
- HORIZONTAL INSTALLATION VERTICAL INSTALLATION
ELEVATION ELEVATION

SEE ANCHOR SCHEDULE
CONNECTION TYPE "A"

CORNER PAN
ANGLE MAY VARY

1/4-20 BOLT
LOCKNUT
6°-8" FROM BOTTOM

i PLAN V/E ws

' DETAIL 12
A B C&D

ONE EACH SIDE

CLOSER PAN HANDLE l

PANEL NOTCHED AT BOTTOM
TO PASS OVER STUD AND
WINGNUT IN SILL (EACH SIDE)

— | M?W g

ROBERT S. MONSCUR, PE

e /C
£Q EQ
\.@ OR_OTHER HEADER or SILL - e
REFER TO THAT APPLICATION FOR BT )
PROPER CONNECTION TYPE NOTE -, "

SEE ANCHOR SCHEDULE
CONNECTION TYPE "B"

DETAIL 8

CONTINUOUS WOOD BLOCKING
VARIOUS SIZES

DETAIL 7

ED\v—*

SEE ANCHOR SCHEDULE

EQw)y R CONNECTION TYPE "D”
\Td) WINDOW OR DOOR A h Y
— E& OPENING
2 3/4" MAX.
/ L) OR CONTINUOUS BLOCKING
. BOLTED TOGETHER WITH
9" MaxiMuM 1/4-20 THRU BOLT W/ LOCK NUT 12" O.C.
NOTE %
- 18) 0r ® covrmuous sLockinG

%é[ L1/4—20 x 3/4 KNURLED STUDS

( /T WITH WASHERED WINGNUTS 12 1/2* 0.C. (TYP)
STORM PANEL

MAY BE MOUNTED VERTICALLY
OR HORIZONTALLY

DETAIL 11

NOTE: X

IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR

TO VERIFY THE SOUNDNESS OF THE STRUCTURE TO WITH
STAND THE ADDITIONAL LOADS AND INSURE PROPER ANCHORAGE.,
SHUTTER SYSTEM MAY BE INTSALL INTO WOOD, CONCRETE,
MASONRY.

WHEN ANCHORING TO WOOD, THE WOOD MUST BE

A MINIMUM 2 X 4 EQUAL TO #2 SOUTHERN PINE
WITH 0.55 SPECIFIC GRAVITY

AND STRUCTURALLY PART OF THE FRAMING STRUCTURE
OR SUCULR:ILY ATTACHEP TO FRAMING STRUCTURE

PRODUCT REVISED

as com| Florida
Buiding Code vith the
Acceptance No O/ /2.2, 07
Expiration Date 0 i

0
Y obelod A~

Division

BUILDING CODE COMPLIANCE |

EB—-0006024

RAMMS ENGINEERING, INC.

REVISIONS ?
|03/80/98 SP

f06/12/98

08/14/98

01/17/01

©)
z
O’\
=
=
W
,
=
O
=
w
(A~
=
=
T
(a4

Svtat Doy

IVIETALIE[:H. INLC.

7835 W. SECOND CT.

EST.1957

2100 W. 76th STREET, SUMTE 311
EB 0006024 HIALEAH, FLORIDA 33018

RHIALEAH, FL 33014




1/4~20 FLOOR PLUG WITH NoTE Y . REVISIONS | BY
MACHINE SCREW ANCHOR . 1/4" PANEL MATE SCREW WITH 14-20 STUD HEAD 03/20/98|sp
HEADER OR SILL . , . sWITH WASHERED WINGNUT ... NOTEX

CONCRETE OR MASONRY . 4 . . el . " ‘. HEADER OR SILL L §04/20/98/sp

©or@®—

CONNECTION TYPE "§" @ﬂ NOTE: S ' WOOD, CONCRETE OR MASONRY f06/12/98]sp
'4 THE METALTECH STORM PANEL MAY BE INSTALLED WITHOUT E' D’ CONNECTION TYPE * 08/14/98|sp
E D THE USE OF AN EXTRUDED HEADER OR SILL. 01/17/01 [sp

_ THE SHUTTER MAY BE ANCHORED DIRECTLY TO THE | FEFER TO DEFECTION ;ﬁ’;ﬁ_é%c%ﬁgw/rg” - fo1/11/02 Isp
REFE}SA R(? DEFECTION gsz;gIqul;zE ;/lTH THE USE OF ONE OR A COMBINATION THART
1 k-—-—J
GLASS B R GLASS STUCCO FINISH _/__ .
oLass_ | EENG NOTE WX e ~
il - METATIELH, o
METATIECH, . . | M
STORM PANEL —~ / ORM PANEL
\ ./
~e REFER TO DEFECTION
CHART

wJ)
/i

1/4 " PANEL MATE |WITH MACHINE SCREW HEAD
WITH 14-20 SIDEWALK BOLT
HEADER OR SILL

WOOD, CONCRETE OR MASONRY

METALIEER, e
STORM PANEL

CONNECTION 1

PETAIL |2

1/4-20 FLOOR PLUG WITH
1/4—20 BRASS WOOD BUSHING
HEADER OR SILL INTO WOOD

PRESTUCCO INSTALLATION
DETAIL 14

2100 W. 76th STREET, SUME 311
HIALEAH, FLORIDA 33016

MAXIMUM IMPACT: STORM PANEL
Sevtinet D

RAMMS €NGINCERING, INC.

EB 0006024

or
HEADER or SILL

(7) HEADER or SILL

1/4-20 MACHINE SCREW ANCHOR
HEADER or SILL

4
o :L/#‘ MIN. 1 1/4" MAX.

1.25 DA EXTRUDED ALUNINUN TUBE
062 WALL THICKNESS

SEE ANCHOR SCHEDULE

RAMMS ENGINEERING, INC.

Do e CONNECTION TYPE "A" ;.':'- i g 1.125 DIA MOLDED NYLON CAP t
SEE ANCHOR SCHEDULE e T R e I
CONECTION TYpE "en  E.Ds T . A
SEE ANCHOR SCHEDULE (1) C ¢ ¢ TEl s aNcHoR scHEDULE Ll.":‘Eg' #_* o % ( TS \_‘/"2" W/s FLOOR PLLG I = ’
TYPE * Lo SAN e ca' e e wo . . al
¢ w HEADER or SILL CONNECTION TYPE "A SEaEaANCHOR SCHEDULE s D TS/ STANDARD 1 MR .
I CONNECTION TYPE "C” AND@DHEADER or SLL Tt E 3
DETAIL 15 DETAIL 16 DETAIL 17 2
=== =rs L DETAIL 18 DETAIL 19 DETAIL 20 Xk
- .
s}
SS‘ERVE THRU WINDOW | gg
s
—-— ) ® ), M ewer o 51t NOTE:* AN
3
STORM PANEL IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR o
) i o TO VERIFY THE SOUNDNESS OF THE STRUCTURE TO WITH n
2/8" THRUBOLTS 9 1,/2" O.C. i) STAND THE ADDITIONAL LOADS AND INSURE PROPER ANCHORAGE. 3
WITH 2X3X.125 ANGLE ON BOTTOM % \_ SHUTTER SYSTEM MAY BE INTSALL INTO WOOD, CONCRETE,
" WIND PRESSURE 71.5 P.S.F. MAX. = SCREWED OR BOLTED TOGETHER WITH MASONRY. B
MAXIMUM PANEL LENGTH 48" . 1/4-20 THRU BOLT W/ LOCK NUT 12" O.C. \ o
N WHEI\A//M/;NCHOR/NG TO WOOD, 7;,15 WOOD MUST BE -
” m CONTINUOUS BLOCKING A MINIMUM 2 X 4 EQUAL TO #2 SOUTHERN PINE
1 1/4" MAXIMUM < /—@ or ) 1,/4” ANGLE WITH 0.55 SPECIFIC GRAVITY i
AND STRUCTURALLY PART OF THE FRAMING STRUCTURE -
" Su v
WOOD COUNTER 1 1/4" MAX. 1/4-20 MASHINE SCREW ANCHOR OR SUCURELY ATIACHED TO FRAMING STRUCTURE by
19 THICKNESS COUNTER MAY BE WITH SIDEWALK BOLT ; 2
MADE OF OTHER MATERIAL OR 1/4" MASONRY SCREW 4" 0.C. Q§_
3" MIN. EDGE DISTANCE PRODUCT REVISED 2
SEE ANCHOR SCEDULE FOR ANCHOR TYPES FOURED CONCRETE ONLY >
ALL ANCHORS 12" O.C. / 8
590.5 PSF MAXIMUM / PANEL HEIGHT 109" MAXIMUM //{ G
4}
=
DETAIL 21 DETAIL 22 <
ETAL ADJUSTABLE HEADER OR SILL ROBERT S' MONSOUR' PE %
EB—0006024 D




THE METALTECH STORM PANELS MAY BE INSTALLED WITH OR WITHOUT THE 24 GA MAXIMUM IMPACT: STEEL STORM PANEL OSE;'Z'%";%;
24 ga. STEEL : HORIZONTAL BRACE STRAP. REFER TO PANEL DEFLECTION CHARTS. IO < in o8l
DESIGN PRESSURE| PANEL SPAN Jos/14/98]sp
; n 15 33 ”» 18/04/00 SP
2103 142’ _ /{/QZPAA/V/}{' S’;/,“?IXIE’-L HEIGHT o 142" MAX. PANEL HEIGHT
— 1S’ REQUIRED - & ONE PANEL STRAP 01/17/01 |sP
25 57 139 . LOCATED MIDSPAN foi/11702 [se
29.99 | 136" x| g HIGH VOLOCITY HURRICANE ZONE x% HIGH VOLOCITY HURRICANE ZONE —
. 5| E
3536 | 132" N PANEL DEFLECTION CHART 3k PANEL DEFLECTION CHART
. N 3 WITHOUT HORIZONTAL STRAP N 5 N WITH HORIZONTAL STRAP
3/.44 130 N PANEL HEIGHT | 0™-90" | 90142 3%‘ 2 PANEL HEIGHT| o0™-104" | 104™=142" @)
30 10 109" WALL MOUNT | 2 5/8" | 3 1/2” ; é WALL MOUNT PR 2 14 =
- | INSIDE MOUNT | 2 5/8" 3 1/2” S =X INSIDE MOUNT 2" 2 1/4" n
40.77 127 FRONT VIEW SIDE VIEW BUILD our 2. 5/8" | 31/2” B FRONT VIEW SIDE VIEW BUILD oUT 2" 2 1/4" O
44 40 724 7] MINIMUM DISTANCE BETWEEN GLASS AND PANEL MINIMUM DISTANCE BETWEEN GLASS AND PANEL g §\ z .
. i
47 81 123 HORIZONTAL BRACE STRAP HEADER AND SILL TYPE MAY VARY, DEPENDING ON APPLICATION % D ; 3
57 23 1 ” DETAIL 13 ON SHEET 3 DETAIL 3,4, & 8 DETAIL 1 ON SHEET 2 DETAILS 5,7,9,10 AND 11 DETAIL 2 ON SHEET 2 é E :
. 19 1/4-20 STUD ON SHEET 2 DETAIL 15 ON SHEET 3 ON SHEET 2 DETAIL 16 ON SHEET 3 O R §
py WITH WINGNUT ( YP,) N N , > 2 2
58.06 112 12 1/2” 0.C. }:ﬁ S N S N § HEADER HEADER HEADER O S\ g
M N - K = — — A —
61.47 | 109" 1/8" X 3/4" ANNN NN SNTT N g .
FLAT ALUM/NUM BAR 7 i 9 g n F > %
66.85 | 104" SIDE VIEW — FRONT VIEW 3! 3 b 3L T ST T g] = 2
71.46 | 100" , 3 R °E | E| F of | || B 55| |3 5 8
] ) ” Wy < %] ] < %] L“E : 7] 3] : [ : & o
R 95 8~ : Q S = g Qg : Q a\, » EQ al
- _ %g " S RE : iz |6 : 3 : % | FE :
81.45 | 88 f 3 3 RN [z i
124 (7] 7] o]
86.83 | 82 4 A ;
91.44 | 78 " ° e 5
. ™ 3
GLASS [ il [
USE 59.5 P.S.F. COLUMN AND 124" PANEL SPAN MAXIMUM GAP BETWEEN PANEL TN X = ——X =X 7 W%
ON ANCHOR SCHEDULE FOR ANCHOR SPACING FOR AND HEADER IS 1/4" (TYP.) SILL SILL SILL .
SPANS OVER 124 DETAIL F” .
—_— DETAIL 13 ON SHEET 3 DETAL 3.4, & 8 DETAILS 3,4 AND 8  DETAILS 5,7,9,10 AND 11 DETAIL 4 ON SHEET 2 a
ON SHEET 2 ON SHEET 2 ON SHEET 2 ﬁ 2
Q
s T 8 T WALL MOUNT WALL MOUNT WALL MOUNT _BUILD ouT_ INSIDE_MOUNT Ly’
ﬂ oo |_—3/4°DIA. ] o T 3/4TDIA ANCHORING PANEL ANCHORING PANEL WITH HDR. AND SILL WITH HDR. AND SILL WITH HDR. AND SILL 3
| T o 1 Q ™0 NG HoR, o 1 W/TLDPSTZ:DSEL;T %R/S/LL 7
" o
& — N I IN
M~ 4 — N u 1%' 14 )
e, 374 DI 3 _ 3/4'DIA. TYPICAL SECTION VIEWS 5
L L * ]
FASTENER MUST BE IN NORROW PORTION OF KEY HOLE, “:"_."' :,17 — &
IF NOT A KEY HOLE WASHER SHOULD BE USED —+ Ly b
" O
MOUNTING HOLE MAY ALSO BE A 9/16" DIA. CIRCLE 125 THICK " § N e—
- ODUCT REVISED & pro———
M KEY HOLE WASHER :M%Mhm % SEP/IRB
w/ T\ N\ U A N
QO‘ % o1 -LO. 98
I L. M /[ 10 By 3 SHg
7 Miami Dad. mductC O 98001
HORIZONTAL BRACE STRAP — PANELS MAY RUN CONTINUOUS BY WIDTH U/ ¢y Miami ontrol 2 o
HEADER AND SILL EITHER HORIZONTALLY OF VERTICALLY ROBERT. §. M6NQOUR PE sion g 4
EXPLODED ASSEMBLY EB—-0008024 S
RAIMS ENGINEERING, INC. - 7 o




ANCHOR

S CHEDULE

ANCHOR SPACING vs DESIGN PRESSURE 59.6 PSF 715 PSF
AND CONNECTION TYPE POURED CONCRETE CONCRETE BLOCK POURED CONCRETE CONCRETE BLOCK
CONNECTION TYPE CONNECTION TYPE CONNECTION TYPE CONNECTION TYPE
ANCHOR TvPE PANEL E.D. A [ s [cTo e R A s [ ¢ o e A s ] clol]cE
¥ 16 13011 13 013 116 013 113 13 .13 116 13 g 13 13 LR IR R SRR R <
, 68" Span 2" 16 13 9 13 113 | 16 1 13 . 10 13 13 16 © 13 © 7 13 13 16 : 13 9 13 13
'{ﬁ [[ =] e P16 13 7 13 13 (16 13 8 13 13 |16 13 . s 13 13 16 13 7 13 13
* J16 138 13 .13 ;16 :13 10 13 .13 |16 8 7 12 13 .16 . 9 8 12 13
174" SLEEVE ANCHOR 88" Span z 1 013 07 13 13 ;16 13 8 13 13 [16 8 6 10 12 |16 . 8 LSRN T
11/4" MIN. EMBEDMENT 114" 046 13 5 13 13 ‘16 113 6 13 ‘13 |15 | 7 5 .9 10 115 : 7 | 5 9 11
¥ 009 7 .12 13116 9 8 " 12 113 115 5 - 6 7 .6 115 8 17 7 "6
105" Span z A6 8 6. 1. Mo12 216 08 7 111 012 (14 5 ¢ S 6. .. S 14 0.5 5 6 . 6.5,
11 145 7 5 10 ;11 116 7 5 10 11 |12 : 4 4 6 5 |12 4 | 4 8 5
|15 .5 6 7 6 .15 .5 7.7 .6
26Tspan) 2 14 .5 .5 .6 .5 14 5 6 6 .5
114" 142 4 4 6 15 112 4 4 . 6 .5
Sl 16 13 010 213 013 16 0 13 18 13.:13 ].16.:.13 8 131134114 113 703 13
68" Span 2" 7

1/4" SLEEVED DRIVE ANCHOR 3"
1 3/8" MIN. EMBEDMENT 88" Span 2"
11/4"

/]

I e
: k I 105" Span 2"

1/4" ZAMAC HAMMER DRIVE 11/4"
1 .3/8" MIN. EMBEDMENT 3"
124" Span 2"
114"
Pe
VARIOUS HEAD TYPES 68" Span 2"
1 1/4"
@ UGV = 3
88" Span 2"
WA T
3

P Te | st [ 2
11/4"

1/4" MASONRY SCREWS 3"
1 1/2" MIN. EMBEDMENT 124" Span 2"
1 1/4° o
i 8

[/ 68" Span 2.5
H 2“
SN b 3,,
1/4-20 x 7/8" , 1/2" DIA. 88" Span 2.5
MACHINE SCREW ANCHOR 2"

7/8" MIN. EMBEDMENT 3 —
105" Span 2.5

=

1247 Span | 2.8 PRODUCT REVISED %

e D L IR B0 e o com with the

16 7 6 9 3 3 4 3 Bnidin:hc‘l? Florida 8

Acceptance No Zl 07 Ly

Expiration Date ob Q

QD

Q

nyi@zﬁééév >

Miam! DadéProduct Control =

ROBERT s MONSOUR PE Division S

EB--0006024 =

RAMMS ENGINEERING, INC.

NOTES:

SPANS AND LOADS SHOWN N THIS SCHEDULE
ARE FOR DETERMINING ANCHOR SPACING ONLY.
FOR ALLOWABLE SPANS VS. DESIGN LOADS
REFER TO SHEET 4.

MINIMUM ENBEDMENT AND EDGE DISTANCE EXCLUDES
STUCCO AND/OR WALL FINISHES.

SHADED AREAS REPRESENT ANCHOR CONDITIONS THAT
ARE NOT ACCEPTABLE.

IT SHALL BE THE RESPONSIBILITY OF THE
CONTRACTOR TO VERIFY THE SOUNDNESS OF
THE STRUCTURE TO WITH STAND THE ADDITIONAL
LOADS AND INSURE PROPER ANCHORAGE.
SHUTTER SYSTEM MAY BE INTSALL INTO WOQD,
CONCRETE OR MASONRY .

REVISIONS

03/20/98

06/12/98

sP

08/14/98

SP

12715700

SP

[oi/17/01

SP

—L

2100 W. 7Bth STREET, SUTE 31

RAMMS ENGINEERING, INC.

HALEAH, FLORIDA 33018

EB 0006024

HIALEAH, FL 33014

METALTECH,

EST.1957

SEP/JRB

OATE:
01/10/98
[T

SHOWN

o
8001
=33

S5

e 1 e




r”

ANCHOR

S CHEDULE

NOTES:

SPANS AND LOADS SHOWN N THIS SCHEDULE
ARE FOR DETERMINING ANCHOR SPACING OMNLY.

SOUR, PE

ANCHOR SPACING vs DESIGN PRESSURE 81.5 PSF 891.4 PSF FOR ALLOWABLE SPANS VS. DESIGN LOADS
AND CONNECT[ON TYPE POURED CONCRETE CONCRETE 8LOCK POURED CONCRETE CONCRETE BLOCK REFE To SEET 4.
CONNECTION TYFE CONNECTION TYPE CONNECTION TYPE CONNECTION TYPE
ANCHOR TYPE PANEL E.D. A [ s [c]o A |8 [ clo]cE A\Blc]DTE Afa}clo|g
: : : : 9 : : 9 MINIMUM ENBEDMENT AND EDGE DISTANCE EXCLUDES
65" Span STUCCO AND/OR WALL FINISHES.
ﬁ@ T&——]
SHADED AREAS REPRESENT ANCHOR CONDITIONS THAT
o5 Soan ARE NOT ACCEPTABLE.
1/4" SLEEVE ANCHOR P
11/47 MIN. EMBEDMENT IT SHALL BE THE RESPONSIBILITY OF THE
CONTRACTOR TO VERIFY THE SOUNDNESS OF
105" Span THE STRUCTURE TO WITH STAND THE ADDITIONAL
LOADS AND INSURE PROPER ANCHORAGE.
SHUTTER SYSTEM MAY BE INTSALL INTO WOOD,
. CONCRETE OR MASONRY.
124" Span
68" Span
== —
1/4" SLEEVED DRIVE ANCHOR
1 3/8" MIN. EMBEDMENT 88" Span
/,4——_\
[{I} —
\— 105" Span
1/4" ZAMAC HAMMER DRIVE
13/8" MIN. EMBEDMENT
124" Span
VARIOUS HEAD TYPES 68" Span
Q T e
88" Span
Y(Eh TR TE
-;tgr-\:,;iﬁy\;&\;ms ,.Tf;>_ 105" Span
174" MASONRY SCREWS
11/2" MIN. EMBEDMENT 124" span
[i 68" Span
1/4-20 x 7/8" , 1/2" DiA. 88" Span
MACHINE SCREW ANCHOR
7/8" MIN. EMBEDMENT ’:
105" Span %
X
PRODUCT REVISED Q\j
as complying with the Florida =
124" Span Buidiag Code 8
Acceptance No 01— .07
AL( ; Expiration Date 0 00f |5
' Q
l Miami Dade$foduct Coniral ©
Division S
=
2
[on]

Rﬂ“ll“l‘;‘ ENGINEERING, INC.

64/
ROEERT
006024

~
REVISIONS BY

03/20/98|sP

%]

06/12/98|sp

08/14/98|sp

01/17/01 |sP

2100 w. 78th STREET, SUME 311
HIALEAH, FLORIDA 33018

RAMMS ENCINEERING,
Sasctinal  Duaign

EB 0006024

FL 33014

HIALEAH,

I IWESIO\'&I;TIEEH. INE.

EST.1957

SEP/JRB/RSM

NE
o1/ 70{28
[

SHOWN
94001
WEXT
7

o wexmn




B ANCHONFR

S CHEDULE

WOOD APPLICATIONS

UP TO 71.5 PSF

UP TO 59.5 PSF

UP TO 81.5 PSF UP TO 91.4 PSF

CONNECTION TYPE

CONNECTION TYPE

CONNECTION TYPE CONNECTION TYPE

ANCHOR TYPE DIA. SPAN

B[C

ALB}C‘D(E

\\\\ 68" SPAN 13 S5 13 : 12 : 5 12 S 42 1
B\\\ U[ BRASS WOOD BUSHING | /420 | 88" SPAN | 19 B E I - T : ,
e 105" SPAN :
1" MIN. PENETRATION 124"SPAN)l g = 3 = 3 4 . 3 |EEm
TN i 68" SPAN ;
[T | e e
WOOD LAGS 105" SPAN
1" MINIMUM TREAD PENETRATION 124" SPAN
. e 68" SPAN
ﬁ‘;XXKXXXK&‘,\KKXXKK&X‘,LXXW 5/15° | 85" SPAN
WOOD LAGS 105" SPAN
1" MINIMUM TREAD PENETRATION 124" SPAN
- NIRRT 68" SPAN
TS | s [room
WOOD LAGS 105" SPAN
1" MINIMUM TREAD PENETRATION 124" SPAN
L . 68" SPAN
ﬁJ&XKX&&&K&X&X&XKXXKX&% 716 [ 88" SPAN
WOOD LAGS 105" SPAN
1" MINIMUM TREAD PENETRATION 124" SPAN
68" SPAN
MO | e oo
1/4" ELCO PANEL MATES 105" SPAN
1.7/8" MIN. THREAD PENETRATION 124" SPAN
R o 68" SPAN
@ilﬁ,&ﬂ“ﬂ“ﬁ,ﬁi‘;“—} 14" |88 SPAN
1/4" ELCO PANEL MATES 105" SPAN
1.7/8" MIN. THREAD PENETRATION 124" SPAN
VERIOUS HEAD TYPES 68" SPAN
A e | e 887 span
1/4" MASONRY SCREWS 105" SPAN
17/8" MIN. THREAD PENETRATION 124" SPAN 3

NOTES:

SPANS AND LOADS SHOWN N THIS SCHEDULE
ARE FOR DETERMINING ANCHOR SPACING ONLY.
FOR ALLOWABLE SPANS VS. DESIGN LOADS
REFER TO SHEET 4.

WHEN ANCHORING TO WOOD, THE WOOD MUST BE

A MINIMUM 2 X 4 EQUAL TO #2 SOUTHERN PINE
0.55 SPECIFIC GRAVITY

AND STRUCTURALLY PART OF THE FRAMING STRUCTURE
OR SUCURELY ATTACHED TO FRAMING STRUGCTURE

SHADED AREAS REPRESENT ANCHOR CONDITIONS THAT
ARE NOT ACCEPTABLE.

IT SHALL BE THE RESPONSIBILITY OF THE
CONTRACTOR TO VERIFY THE SOUNDNESS OF
THE STRUCTURE TO WITH STAND THE ADDITIONAL
LOADS AND INSURE PROPER ANCHORAGE.
SHUTTER SYSTEM MAY BE INTSALL INTO WOOD,
CONCRETE OR MASONRY.

21010
i

RDBER&},’/S.

EB-0006024

RMMS ENGINEERING, INC.

PRODUCT REVISED

as complying with the Florida
Buiding Code

Am;gnce NoO/-1T4--07

DateG3 /272 00 6
MM\
M ct Control
Division

BUILDING CODE COMPLIANCE |

| Iz. IwEsTﬁlg'l ELH, .

REVISIONS BY

08/14/98|spr

01/17/01 [sp

RAMMS ENGINEERING, INC.
Sasctinal  Duagpn

~
~N
[=]
o
Q
o
[=]
m
)

HIALEAH, FL 33014

EST.1957




